Operaciones con Nimeros Senarios (G)

4245

+ 3242

54554

— 21344

44036

+ 11234

34034

+ 3510¢

4235¢

+ 13144

Calcule cada respuesta.

52205

+ 43214

4245

— 1222

101004

— 21004

4330¢

+ 3120

3315¢

+ 40034

4214,

+ 2042

40236

— 11044

13112

— 55334

43454

+ 1532

11412

— 3024

140404

— 51204

4425

+ 51344

1242

+ 50254

43154

+ 4014

5400¢

+ 32544
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Operaciones con Niumeros Senarios (G) Respuestas

4245

+ 3242

115314

54554

— 21344

33214

44036

+ 11234

55304

34034

+ 3510¢

11313

4235¢

+ 13144

5553

Calcule cada respuesta.

52204
+ 4321,

135414

4245
— 1222

3023¢

101004
— 21004

40004

43304
+ 31204

114504

3315¢
+ 4003

113224

4214,

+ 2042

103004

40236

— 11044

25154

13112

— 55334

3135¢

43454

+ 1532

103214

11412

— 3024

4344

140404
— 51204

45206

4425
+ 51344

140034

1242
+ 50254

103114

4315
+ 4014

12333

5400¢
+ 32544

13054
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